11

ASSEMBLY INSTRUCTION ITEM# 31534

1.Remove center knock-out in outlet box.

2.Position wood support across ceiling joists over outlet and mark location for drilling a /16" dia.Hole for the 1/4-18 nipple.

3.After drilling.Align wood support over outlet box and secure with nails.

4 Install 10" long nipple through wood support and center hole in outler box with hex nuts and washers as shown.Rod should
extend through outlet box 1-1/2°minimum. Tighten the two hex nuts above the wood support against each other to lock their
position on the nipple.caution do not tighten hex nuts at outlet box at this time.leave loose until entire fixture weight is suspended.

5.Thread loop to nipple.

6.Install hex nut.hickey. 2-3/8" nipple onto end of support rod.

7.Place canopy over the 2-3/8"nipple and screw collar loop onto the nipple the secure with the ring .

8.Adjust chain to desired height .Attach adjustable link to screw collar loop and to chain one end then Close the adjustable link.

9.Attach adjustable link to chain at other end and to fixture loop then close the adjustable link .

10.Allow ring and canopy to slide down chain. Weave fixture wire and groud wire, insert fixture wire and ground wire through center

of screw collor loop. Up through 2-3/8”nipple and out through hickey side opening.

11.Connect the wire from the fixture to te power supply wire from outlet box. Cover with wire connector.

A) Twist together glossy wire from the fixture with white wire from outlet box. Cover with wire connector.
B) Twist together rough wire from the fixture with black wire from outlet box. Cover with wire connector.
C) Twist together fixture ground wire with house ground wire. Cover with wire connector.

12.Place the canopy all the way to the ceiling and tight the ring onto the screw collar loop until the canopy is firmly held against the

ceiling.

13. Carefully unpack the glass shade from the box, and set the glass shade onto the socket, then install it into the frame.

14. Install the bulbs (not included). Do not use greater than 60-watt bulb.

15.Restore electric power, and test your new fixture.

NOTE: Carefully remove the fixture from the carton. Check that all parts shown in package parts 1 and parts 2 are included.
Be carefully not to misplace any of the screws or wire connectors, which are needed for installing the fixture.

Steel Washer. Hex Nut
Wood Support
Package parts1 ) u “ 10" Support Rod
Existing Sgg}?ﬂruet X
D inti N f pi Outlet Box \\S‘\t’heﬁievli:ls}hsgmm
escription o.of pieces S ae W
Chain 1 H é‘rxturg Wire = A Eﬁ':ir%%?éc o
. roun
Screw Collar Ring 1 Fixture Ground Wire 255 Nipple
Canopy 1 — =
10"Support Rod 1 Canopy
2-3/8" Nipple 1 Screw Collar Ring
Hickey 1 Screw Collar Loop
Wire Connector 3 Adjustable Link
Screw 1 _
Steel Washer 3 Chain
Hex Nut 6 Adj Lk
Screw Collar Loop 1 Supply wire
Adjustable link 2 Ground wire
Loop
Nipple

Package parts 2 RR
Description No.of pieces I.
Glass shade 9 —Am




